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Mathematical Induction: Proof of a conjecture. /0 07@5 .

Conjecture Is a statement that is believed to be true (based on the observation of the patterns or induction) but not yet proved.

Math Induction proof process for a given conjecture (statement):

Step 1: Show that the statement is true for n=1.

Step 2: Assume thai the siatement is true for n=k where ke Z*.
Step 3: Prove that the statement is true for n=k+1.

| Step 4: . The statement is true for ne Z”

Example 1) Prove a Conjecture: Ziz = n(n +1)6(2n D) for neZ",
i=1
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Example 2) Conjecture: »_(2i—1)* = n(2n— 13)(2” +D)
i=1

Using Math induction, prove this statement is true for ne Z*.
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Practice) Conjecture: S, = ! + L + L el 1 L

+ = :
1x3 3x5 5x7 2n-D2rn+1) 2n+l1
Using Math induction, prove this statement is true for ne Z™.
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